
MA 226 TEST #3A April 30, 1997

1. (24 points) Using Laplace transforms, solve the initial-value problem

dy

dt
+ 4y = u3(t); y(0) = 5;

where u3(t) is the Heaviside function that \turns on" at t = 3.
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3. (24 points) Consider the second-order equation

d2y

dt2
+ 4

dy

dt
+ 3y = 65 sin 2t:

a. Determine a particular solution to this di�erential equation.

b. Find the general solution to this di�erential equation.
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4. (24 points) Solve the initial-value problem

dY

dt
=

�
0 4

�1 4

�
Y; Y(0) =

�
1
3

�
:

4


